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Polanyi, Karl. 1989 [1944] La gran transformación [The Great 
Transformation] (Madrid: La Piqueta). 
 
Prepara para clase el lunes tus respuestas a las siguientes preguntas sobre los 
capítulos 3 y 6. También puede ser útil leer el capítulo 4 y, tal como os he dicho, 
leer las dos primeras secciones del capítulo 13 de Hobsbawm para comprender 
mejor los argumentos criticados por Polanyi. No es una práctica; no hay que 
entregar nada, pero sí es importante tomar en serio la lectura y las preguntas. 
 
Lo que vamos a hacer en clase es: 
1. asegurar que hayamos entendido el argumento 
2. ponerlo en contexto: ¿qué son los argumentos que critica y por qué? 
3. criticar el argumento de Polanyi (como todo que vamos a leer, es un 

argumento, no una verdad que hay que tragar sin más) 
4. reflexionar sobre el significado de su argumento para el estudio del mundo de 

trabajo  
 
Capítulo 3: Moradas y Mejoras 
Polanyi defiende, en contra de la opinión de los economistas liberales, las 
intervenciones de los Tudores y los primeros Estuardo (últimos reyes absolutistas 
ingleses) para ralentizar la velocidad del proceso de “enclosures”.  
 
En tu lectura, sería útil saltar desde la linea 11 en la página 72 hasta la linea 12 
contando desde abajo en la página 73. En esta sección nos explica que los Tudores 
y los primeros Estuardo adoptaron leyes que dificultaron el proceso de enclosures, 
manteniendo así un tiempo más los terrenos comunes de los pueblos.  
 
Luego para la lectura en la linea 5 de la página 77 y intenta contestar la siguiente 
preguntas: 
 
¿Qué consiguieron los Reyes si al final, y en esto Polanyi está de acuerdo con los 
economistas, los enclosures aumentaron la productividad y los incentivos para 
conseguirlos eran tan altos que era imposible impedirlo de todo? 
  
Esta discusión del proceso de los enclosures le sirve a Polanyi para introducir su 
interpretación del significado de la revolución industrial a partir del primer 
párrafo completo de la página 78 (“Fue entonces…") 
 
Aquí nos dice que “la creación de una economía de mercado” es “elcambio 
fundamental” de la revolución industrial.  Intenta definir en tus propias palabras 
que quiere decir Polanyi con los siguientes términos o frases: 
• “una economía de mercado” (80) 
• “un mercado autorregulador” (80) 
• que para el comerciante industrial, “todos los factores implicados en la 

producción tienenque estar en venta” (81) 
• que la revolución industrial “supone en los miembros de la sociedad una 

mutación radical de sus motivaciones” (81) 

Ahora saltamos al capítulo 6, página 121. 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Capítulo 6: el mercado autorregulador y las mercancias ficticias: trabajo, 
tierra y dinero 
Aquí nos describe con mucho más detalle qué es un mercado autorregulador y 
porque para ello es necesario convertir en mercancias tres cosas que no las son. 
 
• ¿Cuáles son los requisitos para que pueda funcionar una economía de 

mercado? 
• ¿Por qué son mercancias ficticias el trabajo, la tierra y el dinero? 
• ¿Qué quiere decir un mercado autorregulador? (quizá más fácil de contestar 

ahora que cuando leías el capítulo 3) 
• ¿En qué consiste el doble movimiento que comenta en el último párrafo de la 

página 133? 
 
Capítulo 4: sociedades y sistemas económicos 
Si todavía no ves clara la diferencia entre una sociedad de mercado y lo que existía 
antes, te puede ser útil revisar el capítulo 4. Aquí Polanyi intenta mostrar que lo 
que él llama “una economía de mercado que supone un sistema autorregulador de 
mercados” es radicalmente distinto a todas las formas de organización de la 
actividad productiva anteriores a la revolución industrial.  
• ¿Qué es su crítica de Adam Smith? 
• ¿Cuáles son los distintos principios organizadores de las sociedades anteriores 

a la del mercado? 
 
 


